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ECUACIONES IRRACIONALES 

Problema 21: 

Resolver 

�� + 46 − � + �6 − �� + 4 =  2 

Solución Problema 21:  

�� + 46 − � + �6 − �� + 4 =  2 

Elevamos ambos miembros de igualdad al cuadrado: 

( �� + 46 − � +  �6 − �� + 4)� =  2� 

 ( � + 46 − � + 6 − �� + 4 + 2 
�� + 46 − � �6 − �� + 4� =  4 

 

( � + 46 − � + 6 − �� + 4 + 2 
�(� + 4)(6 − �)(6 − �)(� + 4)� =  4 

 � + 46 − � + 6 − �� + 4 + 2 =  4 

 (� + 4)� + (6 − �)�(6 − �)(� + 4) =  2 

(� + 4)� + (6 − �)� =  2(6 − �)(� + 4) 

�� + 16 + 8� + 36 + �� − 12� =  2(6� + 24 − �� − 4�)= 2(2� + 24 − ��)  
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�� + 16 + 8� + 36 + �� − 12� =  4� + 48 − 2��  
�� − 2� + 1 = 0  
� =  2 ± √4 − 42 = 22 = �  

  
 


